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 Worksheets

Worksheet 1

	 1.	 Fill in the blanks.

		  a.	 Repeated addition is called ………………………

		  b.	 The number to be multiplied is called the ………………………

		  c.	 The number by which we multiply is called the ………………………

		  d.	� When 2 numbers are multiplied, the answer is called the ………………………

		  e.	 Any number multiplied by 0, will give the answer ………………………

	 2.	 State whether the following statements are TRUE ‘T’ or FALSE ‘F’.

		  a.	 Any number multiplied by 1 gives a number 1 place ahead. ………………………

		  b.	� If a number is multiplied by 2, the answer will always be an odd number. 
………………………

		  c.	� If a number is multiplied by 10, the answer will always end in 0………………………

		  d.	 If a number is multiplied by 5, it will always end in either 5 or 0………………………

		  e.	� If the order of the numbers in a multiplication sum are changed, the answer  
will be different. ………………………

	 3.	 Multiply on the number line: 15 × 4 = ………………………

		  20 30 40 50 60 70 80105 25 35 45 55 65 75 85150 90

	 4.	 Multiply by repeated addition.

		  a.	 6 × 3 = ………………………

		  b.	 3 × 4 = ………………………

		  c.	 5 × 5 = ………………………

		  d.	 7 × 2 = ………………………

		  e.	 4 × 6 = ………………………

	 5.	 Use Cayley’s multiplication table to solve the following sums.

		  a.	 9 × 3 = ………………………

		  b.	 8 × 4 = ………………………

		  c.	 6 × 5 = ………………………

		  d.	 7 × 7 = ………………………

		  e.	 9 × 6 = ………………………



98

	 6.	 Find the product.
		  a.	 	 T	 O

		  5
	×	 3

	 b. 	 T	 O
		  6
	×	 2

	 c. 	 T	 O
		  7
	×	 4

	 d. 	 T	 O
		  9
	×	 1

	 e. 	 T	 O
		  8
	×	 2

	 7.	 If 1 box has 6 chocolates, how many chocolates are there in 4 boxes?

Worksheet 2

	 1.	 Complete the statements by repeated addition.
		  a.	 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 = 8 × …………… = ……………
		  b.	 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 = 10 × …………… = ……………
		  c.	 4 + 4 + 4 + 4 + 4 + 4 = 6 × …………… = ……………
		  d.	 5 + 5 + 5 + 5 + 5 = 5 × …………… = ……………
		  e.	 6 + 6 + 6 = 3 × …………… = ……………
	 2.	 Fill in the blanks.
		  a.	 2 × 3 = 3 × …………… = ……………
		  b.	 2 × 6 = 6 × …………… = ……………
		  c.	 3 × 4 = 4 × …………… = ……………
		  d.	 9 × 3 = 3 × …………… = ……………
		  e.	 5 × 3 = 3 × …………… = ……………
	 3.	 Multiply on the number line.

		  10 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

		  …………… × …………… = ……………
	 4.	 Find the product.
		  a.	 	 T	 O

	 1	 0
	×	 3

	 b. 	 T	 O
	 1	 1
	×	 2

	 c. 	 T	 O
		  9
	×	 4

	 d. 	 T	 O
		  9
	×	 0

	 e. 	 T	 O
		  7
	×	 4

	 5.	 If 1 box of colour pencils has 8 colours, how many colour pencils are there in  
8 boxes?

	 6.	 If 1 bunch has 6 bananas, how many bananas are there in 9 bunches?
	 7.	 If 1 toy car has 4 wheels, how many wheels are there in 7 cars?
	 8.	 If there are 9 flowers in 1 vase, how many flowers are there in 10 vases?
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Answers to Worksheet 1
	 1.	 a.  multiplication	 b.  multiplicand	 c.  multiplier
		  d.  product	 e.  0
	 2.	 a.  F	 b.  F	 c.  T	 d.  T	 e.  F
	 3.	 60
	 4.	 a.  3 + 3 + 3+ 3 +3 +3 =18	 b.  4 + 4 + 4 = 12
		  c.  5 + 5 + 5 + 5 + 5 = 25	 d.  2 + 2 + 2 + 2 + 2 + 2 + 2 = 14
		  e.  6 + 6 + 6 + 6 = 24
	 5.	 a.  27	 b.  32	 c.  30	 d.  49	 e.  54
	 6.	 a.  15	 b.  12	 c.  28	 d.  9	 e.  16
	 7.	 24 chocolates

Answers to Worksheet 2
	 1.	 a.  2; 16	 b.  3; 30	 c.  4; 24	 d.  5; 25	 e.  6; 18
	 2.	 a.  2; 6	 b.  2; 12	 c.  3; 12	 d.  9; 27	 e.  5; 15
	 3.	 4 × 4 =16
	 4.	 a.  30	 b.  22	 c.  36	 d.  0	 e.  28
	 5.	 64 pencils	 6.  54 bananas	 7.  28 wheels	 8.  90 flowers




